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sin2x = 2sinz coszx

cos 2z = cos?z — sin’z
L9 g
sin“z = 3(1 — cos 2x)

sinz cosy = [sin(z — y) +sin(z + y)]

cos’x = %(1 + cos 2z) sinzsiny = 3[cos(z — y) — cos(z + y)]
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ang =T cos T cosy = ;[cos(z — y) + cos(z + )]

Show all your work (algebraically or geometrically) for each and simplify. No credit is given
without supporting work.

1. [1) Write out the form of the partial fraction decomposition of the function (as done
in class Wednesday). Do not determine the numerical values of the coefficients
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2. [3] Find ONLY ONE of the following. Indicate clearly which one you want graded by
completely crossing out the problem you do not want graded.
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3. [3] Find ONLY ONE of the following. Indicate clearly which one you want graded by
completely crossing out the problem you do not want graded.
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